Intercooler Shroud and Belt Cover for 2015+ WRX

2016-05-18
Thank you for purchasing this PERRIN product for your car! Installation of this product should only be performed by persons experienced with installation of aftermarket performance
parts and proper operation of high performance vehicles. If vehicle needs to be raised off the ground for installation, the installer must use proper jacks, jack-stands and/or a
professional vehicle hoist for safety of the installer and to protect property. If the vehicle is lifted improperly, serious injury or death may occur! Please read through all instructions
before performing any portion of installation. If you have any questions, please contact our tech department prior to starting installation.

SPECIAL NOTES:

e This part is designed to be installed with stock and most aftermarket top mounted intercoolers. Test fit intercooler shroud with
aftermarket intercooler before proceeding with installation.

Included Parts with PERRIN Intercooler and Belt Cover:
. (1) PERRIN Belt Cover
. (1) PERRIN Intercooler Shroud (with trim)
. (1) PERRIN Engine/Belt Cover Bracket
. (2) PERRIN Billet Washers
. (2) Large Aluminum Spacers
. (2) 10-32 Rubber Well Nuts
. (4) M6 Fender Washers Black
. (2) 10-32x2” Button Head Screws
e (2) M6 Nuts
. (2) M6x14 Button Head
. (2) M8x20 Flat Head Socket Cap Screws
. (2) M8x16 Button Head Socket Cap Screws
e (2) M8 Nuts
. (4) M8 Fender Washers
. (1) M5 Hex Key
. (1) 1/8” Hex Key
. (1) Thread Locker Compound
. (2) Zip Ties

On Fr@h\“

vy e
LCgver To BreetFiom.

A

..


https://www.carid.com/perrin-performance/
https://www.carid.com/body-kits.html

Installation Instructions
1. Remove engine cover from engine by removing (2) plastic pop-it type fasteners at rear and pulling straight up on front. Take care in
doing this as the buttons that secure the front half are fragile and can break off.
2. Locate and remove (2) rubber grommets left behind where front of engine cover snapped into OEM bracket.

A S v
-

r

3. Install supplied bracket over top of OEM engine cover bracket. Apply a small amount of thread locker to M8 button head screws. Use
supplied M8 button head screws, M8 fender washers, and nuts to secure supplied bracket to OEM bracket. Tighten bolts to roughly
16ft-Ibs. NOTE: Line bracket up with OEM bracket as best as possible before tightening hardware. Further adjustment can be
made in later steps to account for variances in parts.




4. Locate and remove (2) small plastic connectors on intake manifold securing plastic tube.

- : T L RRRVU) |

UG r'l'.‘1'l‘n'l'\'l'l'l'l‘ﬂl'm‘I’l‘llI'IW'I‘N‘lM'l'llﬂl‘l'lll'llll]ql.lm'pm'.lllllgl]
RSN~ Uy T OO =11y

e B '/’.

' o. S ‘
Remov (2) Plastlc Connectors ...n..

suty

| ';"%F‘P\i

5.  Drill out holes with a 3/8” drill bit as shown in below picture.

0

Drll 5ut’(2)/'l'abs With 348~ Dnll\B\

Then InstaII Rubber Well Nuts 3 “\

_—

' AN : L) TS
y ‘ : - !-vww.......,l
— R ] : r 1I'a® ¢ 5

6. Install supplied rubber well nuts into each hole making sure that the large flange side is facing up.
7. Install belt cover over well nuts and under plastic tube as shown below.



Insert Belt~Cover Under Plastﬁub

Set large aluminum spacers over plastic tubes mounting tabs as shown below

Locate two plastic clips securing rubber hoses to intake manifold. Remove hoses from clips then remove clips from manifold as
shown in pictures below.

!

4
re
D
\
N
\
\
\
N
N
N
N
N

10. Tuck rubber hose under plastic tab as shown below. Secure with supplied zip tie. This is important to add clearance to the
intercooler shroud being installed.



11. Set shroud on back of intercooler first, then pull toward front of car to line up with large spacers. Foam tape at rear of intercooler is
designed to compress when installed and also designed to work with aftermarket intercoolers.

12. Install supplied 10-32x2” bolts with black fender washers through slots in front of intercooler shroud. Line up bolts and large
aluminum spacer with rubber well nuts installed in previous step. Thread bolts into well nuts roughly 2 turns.
13. Install supplied black billet aluminum washers and M8 flat head bolts to holes in front of belt cover but leave loose for now.



“ ——
v b St

o e

14. Adjust plastic hose, intercooler shroud and belt cover until it is lined up with front of car. Tighten 10-32 screws until hand tight.
NOTE: As the screws are tightened up, the rubber well nut compresses and grabs back side of hole in manifold creating a secure

mount. It is important that they are fully seated before tightening and that the screw is not cross threaded or the well nut will not
function properly.

Well Nut Shown Compressed
|

t
Bracket

Visual Representation Of When
Well Nut When Screw Tightened

15. Double check that belt cover does not rub on any of the engine pulleys. If you find them rubbing, loosen all hardware and readjust to

add clearance. NOTE: You may need to loosen M8 hardware holding the bracket to the engine, and adjust the location of this to add
more clearance.



I

M6 Ha_rdware-'G@'evs‘H'éT"e'\’/’Vﬂi”EH Nut

16. Secure rear potion of intercooler shroud with supplied M6 bolts, black fender washers and M6 nuts. NOTE: Nuts You will have a hard
time getting a wrench on each nut while tightening. Use needle nose plyers to hold while tightening M6 bolts.

17. Do one last double check to ensure there are not items rubbing on bottom side of intercooler shroud.

18. After a week of driving check that all hardware is still tight.





